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ANSWERS / RUBRICS
Question No: 33
334 Jis

a ) Define Global Warming. (Marks 05)
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If the student writes a complete correct answer, then give full five /"‘/}bd’]u:)/éy—%’j%uﬂ . i._.w/)d"(/'/ */Jw

marks. For writing partial correct answer, give one to four marks. d//“&ﬁ,mw/{gwmut//tgv.gi%wu;mwu
For writing complete wrong answer, zero mark should be given. y;
oA

Sample answer:Global warming refers to the rising surface P p L,
temperature of the earth. The decade from 2011 to 2020 was the ‘Lb”d']e/)'ﬂwigi/d/u:b'/é—v@/m}ﬁvmgL/

warmest decade ever recorded with rising global average "—'“’gjb"b"‘/’fiﬂui'@/&/d:&f£j202042011
temperature. . . vOL XN

7 pnmlic
Write some harmful effects of ozone layer depletion. (Marks 05)
(/5)-J/ul/_,u‘muuﬁﬁufgfjgfu}),t
/J}bd}]J}/6L4_/iﬁ’atﬁ6yliw/}y//(hbjw
If the student writes a complete correct answer, then give full five / é uﬂ
marks. For writing partial correct answer, give one to four marks. % V'YW/Lw/”J’//l’t'Vayé L

For writing complete wrong answer, zero mark should be given. Jﬁn«/
Sample answer:It causes ultraviolet rays to reach the earth which e " IR
affect the living organisms. It may causes to skin cancer in uﬂ’/‘b’i "'/’4:&’46”/;’?’6/0}15/4 u/"‘."’?gL’/

human. Ozone depletion damage our immune system and effect uj&k,?;&/%(i:/&?U:Uju’g-uggfﬁt*/u;Jljt?ﬁujG{ﬂ
on our eyes. 6]15}!144:U}”’{'/;!‘Ld/7@/o’5’/c a}d/wd/d/q? JU’J"

Question No: 34

a ) Describe steps to improve balance of payments of Pakistan. (Marks 05)

(/5)_J/ul/_,uﬁtLLbﬂfuﬂégfmLul/L
If the student writes a complete correct answer, then give full five V’f'——‘f’/’d’f J}/ékd"(;’auﬁuliwnyﬁbﬁw
marks. For writing partial correct answer, give one to four marks. _th)//‘/&guliblﬁd‘f u‘)/"//lal?’.f’/é)/
For writing complete wrong answer, zero mark should be given.
Sample answer:Pakistan should take following stops to improve J.o’zw’éLLL‘/"{’(U/"JLé""[u%'?’ﬁgL’/
its balance of payment u:g(gg_/_n,u/g,
(I)Needs to increase production of high value -added goods o (e, . s .
(li)improve the marketing system global demand and IT %Vji/JLu/’M"%Jyu{&’”LJ(I)
solutions /&ﬂ{/(wjéu@ctéﬁédpdw/)iJu}la(ii)
111)N i i o« (e . -
(111) Needs to control its population %QJ’/J"—/J’//(;)“ JJ’(IH)

Analyze the importance of Pakistan's textile industry and suggest three ways to enhance its growth. (Marks 05)
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Rubrics /,bd,‘jcu”;/éggg.’;é‘;wa?lﬁwud‘(ﬁﬁ.‘/’Lb

If the student writes the answer of the Pakistani textile industry L . A
correctly, then he should be given full (5) marks. Give 1 to 4 —Q);/d//?‘&%w/{gwmQ;/ngvgi+wa;w;;4

marks on a partially correct answer. Zero marks should be given 2_/!;?&'./

on writing a completely irrelevant answer. . p
S e el e fle crSuless Ll
Model Answer: /Jlb'al;'“o:/?/}bupléu%_u,?&J/lﬁ/g/lja,/égu:/fua

The textile industry is the most important large-scale industry in

|
Pakistan, with more than five hundred textile mills across the u"%“.’u?..i‘C/”’&JJE.’(JJ.L:”J"U:UX""‘C@P
country. Pakistan is known for producing some of the highest r’c'iKW&WJJ/%L;;JGW;JJV?l}u:u;U&

quality cotton, particularly in the provinces of Punjab and Sindh.

/J, 7Y f}} . " gt o
Due to the availability of raw cotton in these regions, the textile J L’/gq}//g‘f ¥ rfﬂlc;qu::u’/u’i_c‘-fuiﬁ
industry has become a crucial part of the country's economy. fj,l‘ad/rKuﬁ‘&’u’igi d}’/l&’/ﬂk;‘” d/c)l?@_‘a
The most significant manufacturing sector within this industry is . ot . . wt .
¢ oo o (%) * had rod had ’ ‘
cotton textiles. Nearly half of Pakistan's industrial workforce is L/JJLLL}{//’:V&W/JJ{’J}M4O%‘/& bzl /
employed in this sector, and about 40% of the country’s exports b,ge%/?/kd;g%u’yiw‘j’uiwwtJlfru‘z_}{uiz’ié

consist of cotton products, including clothing, tents, canvas U/»’ SV 7 5 .
. ’ S f L U E e S U Qo 6 s s
fabric, raw cotton, and yarn. Cotton is primarily cultivated in Jb z g el & J

Punjab and Sindh. Even in the most fertile soils, fertilizers are %-%dﬁé/ﬁ/bbfuﬂwiL‘leﬁﬁc’ﬁ‘&u{’ JJ&K
needed to ensure a good cotton yield. The mature cotton boll, or 542&@1{;&‘&%@‘&/4 ~“(Ju};’3ﬂ/ggk‘digu/g

seed head, consists of a mass of fibers measuring2to 5 cmiin . .
H o - 24 b b“
length, each attached to a seed. -t }"'Va"’éévg’/a"%dﬁ/{w
Question No: 35

a ) Write a note on the importance of seaports in Pakistan. (Marks 05)

(/5).ui”i¢,)4gjlu/un%/&uﬁut>@

.,;zw/;d,'z-q;/égf?cawﬁ,mw»d‘(ﬁ‘.,JLL»
If the student writes a complete correct answer, then give full five 5, ) 5
Sesn P y plve b s g et 2

marks. For writing partial correct answer, give one to four marks.

For writing complete wrong answer, zero mark should be given. ujgj,(c waﬁf&quﬁ!d/Un%kuﬁuwiylﬁgj_/
Sample answer:Ports play an important role in the economy of J'fiu‘gwdiéﬂud’VLUM w&ﬁ)‘/')/ﬂ'
* ¢ . o .: * “_ .j

Pakistan. Major ports on Pakistan's coast such as Karachi Port

and Gwadar Port are hubs for international trade transport. uf-u,?(l?*d}(/qj. LJ"’)JQ} (}Jgujlpog/ﬁu}'ﬂ)lo%/&

These ports not only facilitate imports and exports in the country ﬂ C(L ~ ~ a . 2
e &' y/uﬁ:,u LI l/)uf.' J/,JLU!ZKJM
but also create employment opportunities. Furthermore, the ¢

. J . Z w ) - 5 Y 7.
location of Gwadar port makes it a prime location for projects C”’JK"%M/”[‘U'4&/-“‘-;//'%0%5””4:/{/”1
like "CPEC", WhI.Ch bo'osts economlc ac.t|V|ty in the region. Due t'o Uﬁkém‘%b/ﬁ'/fw‘ﬂ’uﬁuﬁf!‘wﬁ"ug,.d‘"Ll
these ports, Pakistan's trade relations improve and the country's y . z  a

£Ul“/@¢g}dljﬂ%kdl-§_t’n;wufu:;f//(fbf

economy gets stable. -
e Ot i L e I A

Explain transport system in Pakistan.(Marks 05)

A5y S erlonftae AL L a1t o]

If the student writes the answer to the relevant question ?lﬁ.;w/)dﬁi-g[)/égd'i;"gt’dgb/l}?.:/ﬂd'[kJLE
correctly, then he should be given full (5) marks. Give numbers 1 -Ltgp/}‘/"&aqﬁwd”(_q;//lgt“,{u,‘&“

to 4 on a partially correct answer. Zero marks should be given on u/ / . p oA N
5 3 e M . . * o[ .
writing a completely irrelevant Sample answer.An example of a - /ugd'/’b‘/.t/f?//‘”L*—*’/’/"dwu‘tu E.'“.""?b/z—’{

sample response:In Pakistan, the following are the pilgrimage U},ufi’/ggjl;ldé&ju’é‘/}'ufc)(“fq/'bﬁﬁﬁﬂ'céﬁ/

sources of transportation, roads, railways and ships are used on . . W . p " .
the roads for the means of transportation in Pakistan and the — ’/’;/"‘k/’/uauy/gduzd‘/vug/gmwckédw'

vehicles are old, these vehicles are less to meet the needs of the u;nggjgugj,};?‘gtl/?%u’frw K@ﬁ;gj@n{éi
country, the railway system is also very old, while more trade is Umgﬂ,}fuu{&éeﬁJd‘jut&ﬂ(‘"ﬁ‘é&l?Jéﬁé

done through permissions. The trade loss is also very high, if we L
have good and good people, then the pilgrimage to Pakistan can cu&)d/ut‘/’il:iuj/'}/mélgf&g/h//l/'/'c“_lyﬂo)&)o%‘f{

also grow twice and four times today. L&/@}‘fy@l/;luf;gﬂd{
T <
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Question No: 36

a ) Write effects of the Cold War on Pakistan. (Marks 05)
(/5)-@"7@1/"5.@/4&“/@
_ _ _ Vl;?;w/;d:'].-g])/étyiawgulﬁwﬂythlk
If the student writes a complete correct answer, then give full five ° “ ® ‘ :

marks. For writing partial correct answer, give one to four marks. “-LlV.L.’//'i/..&UV'YWL}{—U:’/AEt'i-'g/..‘ﬁv/
For writing complete wrong answer, zero mark should be given. )’Zu:“(fgéd)lf‘gy/fkf(d:uﬁﬁ/UMuli@_:/

Sample answer:Pakistan could not afford to be ally to any party )

of Cold War.However, Pakistan became an ally of the USA and its LUWE‘_Q’/@)V!KUXJVO'LJIA',“(/IU%('ZL“_W&
allies.Pakistan joined SEATI and CENTO due to India's design /,tkLuMQQ,Jﬁj,f@wﬂ/mu,{,ﬁ”é‘;/wjb}u}
against Pakistan and it's weak economic position.Pakistan ) e s . - S e

participated in the western alliance due to political, economic /vl’"ful“q’dkﬁ ”'JL’MUME’LU%‘JJ»@W'VJ’/U’:%

and ideological reasons.It supported west and Mujahedeen Eq;y4ut’3&5!ufdlz;d/l980Lu’l_d/;ﬂ//&uﬁ;lfid/’v
during the Soviet attack of Afghanistan in 1980s CE and was ),cJz;%/,m,.g/lc“_wiquL?JQZQ?A'%«/"'UUML

aided by US and UK. -
LS

Highlight the Characteristics of Ayub Khan's Regime. (Marks 05)
(/5)-&6[5‘)//7:«&4}*"7d/:/:cuﬁﬁul}_/gl
If the student writes a complete correct answer, then give full five b.«’}?o.://)d}f-g[)/é&g}j}.‘at‘b{?'}?wﬂyﬁb.)l.lo

marks. For writing partial correct answer, give one to four marks. .. .
For writing complete wrong answer, zero mark should be given. *“@E’//Q&U%‘mw‘-};‘u:’//lgt‘bgéé
Sample answer:Characteristics of Ayub Khan's Regime: :"“.l:""a} Jw}‘;wiuugyzqﬁKL/
Presidential system of Government:Ayub khan adopted the .5 / . . . .
presidential system of Government instead of Parliamentary ‘El‘f'u’giluz’d"”“%‘frwdu‘{&d’ub*’z'ft@61’”
system.He implemented 1962 Constitution which was _&-’1)/!/ ~/%JWI/0M¢5£0: 721962
residential in character.pakistan was declared a democratic : . . . ) . o 3
presie | P el i p e P i b I UsA L AU
Islamic Republic. - g ‘ : =
Introduction of Monetary Policies:Ayub khan introduced -db/u/l::’*( 1959-195 S)JJLU/‘L’L/

monetary policy (1958-1959) by providing liberal concession Ll f’JVéLiLWJUMLUG e r‘L‘JlféL

from the Government.

Five year plan: Ayub khan adopted a five year plan for economy u"-éfd:é/“/u” V/”G}de/l‘”:‘&’ﬂ‘utf’ﬁ?u’

of Pakistan.This plan gave high priority to agriculture,heavy J}’?JLELW:QOUﬁ&ATJUL'}@L,r‘?
industry development and science.This plan gave Pakistan . . :
Indus Basin treaty: In1960 a treaty was signed between India and _;,ZML,,.“& £L/J7
Pakistan to resolve the water issue. > 5. | . . L
Constitution of 1962:Ayub khan introduced the constitution of L {1962‘}(//7&"‘?3/”%” 259‘4'&&‘/5”@: 761962
1962, consisting of 250 Articles and 3 Schedules.It adopted the _EL:I;/‘)G’/LEJ dﬂy}_u’l_y,/_jjw
presidential system of Government. . . e . . -
[ I~ sV T Jo Yl Q&
Administrative Reforms:Ayub khan imposed law and order in (U/ —ux L«CJLUL }J‘ JU%LUB —? bkl SE
Pakistan.He made Islamabad capital of Pakistan. -El:«.c/;gljl;g gut'/@/ﬂf

Question No: 37

a ) Write a note on the Second Round Table conference.(Marks 06)
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If the student writes a complete correct answer, then give full six
marks. For writing partial correct answer, give one to five marks.
For writing complete wrong answer, zero mark should be given.
Sample answer:The First Round Table Conference was
concluded on January 19, 1931 CE.

During this Conference, the British Government and other
delegates had realized that the conference would be
inconclusive in the absence of Congress. Meanwhile, Gandhi-
Irwin Pact was signed on 5th March, 1931 CE in India. The
Congress withdrew the call of Civil Disobedience Movement and
the Government released its volunteers. Congress consented to
participate in the Second Round Table Conference. Master Tara
Singh mandated Gandhi to represent Sikhs and gave him a
charter of 17 demands which included division of Punjab on
religious bases. It is important to mention here that Lala Lajpat

LJ{;I}“LUJMAJI &,iﬁk{dtrwﬁ .,thfu
W}&L_Q)/St’léytﬁw/)daf_uﬂgd“_)/:}(@
RNy P
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Roy also suggested division of India on a communal basis in 1924 ﬁjfut'«:mu’ﬁ&rf19240/{L2—U¢{.UJUJ/‘¢L5A/L'[2:/

CE as a solution to its problems.

LRI ol SR s 6E S Ui st

Write the important events of the establishment of Pakistan.(Marks 06)

If the student writes a complete correct answer, then give full six
marks. For writing partial correct answer, give one to five marks.
For writing complete wrong answer, zero mark should be given.
Sample answer:British Parliament passed Independence Act of
1947 on July 18, 1947. According to this Act, the two independent
states emerged in the subcontinent. On August 13, 1947 CE,
Viceroy Lord Mountbatten came to Karachi. On August14, 1947
CE, both Quaid-e-Azam &lc Dl 4o and Lord Mountbatten
reached constituent Assembly Hall and Viceroy officially
transferred the power of the newly born state of Pakistan. Quaid-

(F6) /1 f e Ll ep

_,,U?://)d}]-%’)/@dﬁ;‘gwﬁglﬁwnyfk..Jlb
gl iz S A Ll

IS e F1sd §x#1947 20130126 s

JF N e 22 LG S 19472 14T
o w8 b ol 2| /’um%uﬁdgédﬁ/ Uquj/Tuj»
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C w250 . o L. LS -
e-Azam dilc dlll aa3j took the oath as the First Governor General ’/Lf}j'/./’l%/uw}i Jy/"kw'“béWJdﬂ///%

of Pakistan and Liaquat Ali Khan was nominated as the First
Prime Minister. In this way, Pakistan emerged as a sovereign
Islamic state on the map of the world. Quaid-e-Azam all do>)
aule with the grace of Allah Almighty, made the impossible
possible.
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